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O00000:fix f(x). if x =0 then 1 else x  (f (x — 1))
uogbobooooboboooooboogo

@ Newton [
f(x)=0000000x0000
000 xo0DoOOoood
nO0000000 x, 0000
i1 = o — F(xm)/F'(x0)

lim, eox, 00000000000
e NewtonOOOOOOOO

let rec f x =
if x=0 then 1 else x * f(x-1)

O0000: 00000000 (obo)ooooo

f x
xo, F(x0), F(F(x0)), F(F(F(x ...0oboooo
= if x=0 then 1 else x * f(x-1) :DODéOD)/:(E()(:OL), ,E()f)/gﬂ(z))()))
= if x=0 then 1 else x * e J00DUODDUOOOUODN f(x)=000 (0 10)
(if x-1=0 then 1 else (x-1) * f(x-2)) e 00000 DDOUOOODDODOOOODDODOOOODODO
= if x=0 then 1 else x * Oo0oon

(if x-1=0 then 1 else (x-1) x*
(if x-2=0 then 1 else (x-2) * f(x-3))
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f(x,y,2) =
if x<=y then y

else f(f(x-1,y,2), f(y-1,z,x), f(z-1,x,y))
e J0O0OOOO:O00OOOOOOOO (D oooOooo )D O

0000000000000 0000000000 0000 f(x,y,2)0 (x,y,2)000.

f x = if x=0 then 1 else x * f(X_l) (4,2,0)=((3,2,0),(1,0,4),(_1,4,2))=((3,2,0),(1,0,4),4)
=(((2,2,0),(1,0,3),(-1,3,2)),((0,0,4),(-1,4,1),(3,1,0)),4)

e LDDO-DOODOODOODOOOOD =((2,(1,0,3),3), (0,4, (3,1,0)),4)

o pnon:oonondbonununonoooo 3,1,00=0(2,1,0),(0,0,3),(-1,3,1))=((2,1,0),0,3)
0doooooooooooooooooooooo (2,1,0)=((1,1,0),(0,0,2),(-1,2,1))=(1,0,2)
o Dana Scott: 000000 (denotational semantics) “Data (1,0,2)=((0,0,2),(-1,2,1),(1,1,0))=(0,2,1)=2
types as lattices”, 1975. (2,0,3)=((1,0,3),(-1,3,2),(2,2,0))=((1,0,3),3,2)

(1,0,3)=((0,0,3),(-1,3,1),(2,1,0))=(0,3,2)=3
(2,0,3)=(3,3,2)=3

(3,1,0)=(2,0,3)=3

(4,2,0) =((2,3,3),4,4)=(3,4,4)=4
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e OMO:
fixyz) 0000000000000 O0000000 (00 e 00000D0D0O00ODOOOOO
000000)000000000f(0,4,3,1,0))=4 000
00 (f(3,1,0000000000000000000000 (10 true) + 30
noo) e 000000000 O0OOODOOO

o fOOD
f(x,y,2z)= if x<=y then y else if y<=z then z (Ax. if x = 10 then 20 else 30) false
else x

Ub: 0000b0b0b0ebbOooboOobOo0bObOOn
gbooooboobooooDg
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e J0000 e000000 ewwrong 00OO00O0O0OD noooo:
(00O0Owrong 00000000000 O0O0OO0)
e 00000000000 ODOO0OD (000)0000 10420 - int
e - 00000D000DOO0ODOOOONOOOODO if true then 10 else 20 - int
o OO OOOODDOOODDOOODODOOODNDDOO Ax. if true then x + 10 else 20 : int — int

gbooooboobobooobon
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0000000000000 000 etc)

000 (000000) =00 static
OO0 =00 dynamic

A(x,y). if y then x + 10 else 20 : (int,bool) — int
Ay. Ax. if y then x + 10 else 20 : bool — (int — int)
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X :int,y : bool - if y then x + 10 else 20 : int

if y then x + 10 else 20 : int x :int,y :int F if y = 30 then x 4 10 else 20 : int

if y = 30 then x 4 10 else 20 : int 0000000 (Judgment) 000000000

(if y then x + 10 else 20) 4 (if y = 30 then x + 10 else 20) : int?
N-e:7

0000 (Coo0ooooooo)booooooooooooo

0000000000000000000 0000l x:o1,---,x:0, 00000000
e0007000
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((X:U)EFDDD)Var

NEx:o Fe :int [F e :int
Fe +e:int

plus

(mOOOODOOODO)
TEm- 3 constl
m: int [Fe:bool ThFe:o Thes:o

- if
Fif e; then ey elseez: o
(b0 true O false JO0O) )
const
[Fb:bool

oooogogd-3 gooogooo-4

x:okFe:T

Nf:o—>7,x:0cke:T
lN-Xx.e:o—T

M- (fix f(x). e):0 =7

fun

fix

[Feiosr [Ffig tix(f)(x).e 0 f(x)=e 00000000 fOO000DOO00O
Fef:r apply D000000000000000O00.
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Let [ = x : int, y : bool.

[Fx:int [TH1:int
-F0:int -F1:int Ny :bool Tk x:int =x+1:int
-F0+1:int ' if y then x else x +1: int
y :bool - Ax. if y then x else x + 1: int — int
-F Ay. Ax. if y then x else x + 1 : bool — (int — int)
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Let A = x : bool — bool, y : bool.

Mx1:01,-- ,Xp:0pbe:T
fun2
Ak x:bool —bool Al y:bool FEXxa, ..y xn). e:(01,...,00) = T
A F x : bool — bool A F xy : bool
A+ x(xy) : bool
X : bool — bool F Ay. x(xy) : bool — bool M-e:(o,..,on) 27 Theion ... Then:oy apply?2
-F (Ax. Ay. x(xy)) : (bool — bool) — (bool — bool) Meo(er,... en) 17
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r,f:(al,...,a,,)—>7,xl:al,...,x,,:a,,l—e:Tﬁ O000oooooooooooooooog
ME(fix f(x1, ..., xn). €) : (01,...,00) = T x e 00D x:int — int,y :int - x(x(x y)):int 00000
fix f(x1,...,xp). e 0 f(x1,...,x,)=e 00000000 fO nooooooo
00, e U000, 0, 700000000 x:0, y:7Ex(xy):0' O
godoouooooon
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1. fact00O0O0DO0OOOODO @ Subject Reduction (Preservation) O Progress 0 200000
2.0 x.xxO00O0O0O0ODO goooognd

Theorem (Subject Reduction)

lFe:c D0000O00UO0O0OOe~*d 000O00U0OOTEE 0
ooboooooboo

000 ~*0 ~(l0000000)0ooooooooomo
gboboooboboooobooboon

goooo 00000000 Logic in Computer Software oooo 00000000 Logic in Computer Software



OO0O000C0OCOOO (Type Soundness) Dooooo

e DO DODODLOODODODODLODLODDLDODLODDOO
gbobooooboog

e l01000D0OOLODOODODOODDOOOODOODO
gogan

@ Subject Reduction (Preservation) O Progress 0 200000
pooooon uoboboooobbooonobouoooboboooooboboo

gogno
Theorem (Subject Reduction)

l+e:c0000000000e~*d 0000000OTE€ @0
oooooooobooo

e JODUUOOLDOUOODLDLOUOODLDLOUOODLDO
00000 (Preservation D0 00)
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